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List of Topics Studied

Graphing

Equations

Solving Equations, Solving Equations, and even more .. Solving Equations
Slope

Line of Best Fit

Y-Intercept Value and Points

X and Y axis

y=m(x)+b

calculator graphing

Scientific make-up of cow patties —just kidding
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Name / Cyl dhf [ 124D Lo Quiz (35 points)
Overland Trails after day 9 '

Use the lists of variables to answer the following:

A) Write a summary phrase to match the following algebraic expressions.
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e following summary phrases. ’ 4
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B) Write an algebraic expression to match th

5) The number of men on one wagon train.

‘f 3
6) The amount of water consumed by one | M2V 1 \ n
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tamily in one day.

7) The amount of grass consumed by the [ TR, f
oxen of one wagon for the entire trip. N AN B
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Name}“ (clage] V(GO 1 ) & [§ (50 points) [\
Overland Trail Quiz # i) } 2 :
Symbol Meaning

B the number of boys in perlod one

G the number of girls in period two

Bs the number of boys playing a sport

Ge the number of girls playing a sport

Mh the number of minuies each student spends on homework each night

Ms the number of minuies & student in sports spends practicing each day
o the amount of money each student spends on lunch each day

Write 2 summary phrase for each of the following algebraic expressions. Write *

meaning” if it js not poss;ble whe play of 1 oparls é@té“‘ {c
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Evaluate each algebraic expression ifx=-2,y=3andz=-1.
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[”8) Evaiuate x2 y3 if x = 2-—- andy = - 3
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Graph each of the following situations.

g) Awoman climbs a hill at 2 steady pace and then starts to run down the other s
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r.ivaluate each algebraic expressionif x=3, y=-2, z= -4
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Evaluate each algebraic expression if x=- ;1 y= -2£ , 2= —Ilg WORK IN FRACTIONS ONLY!
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" Evaluate each algebraic expressionif x=4,y= Z = - 2
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2. ~11- WORK IN FRACTIONS ONLY!
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Evaluate each algebraic expression if x=:

10) -3x(2+2z—y3
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Time in Hours

1) The graph above represents the distance traveled during a six hour time period by
Mr. Trabosh.
a) How far did he travel in 3 hours? } 2 i ( f
b) Is Mr. Trabosh traveling at a constant rate? Y&
c) Give a rule (equation) that would represent this situation.

s HEX

d) What is his average speed (miles per hour)? L/ 5 mo"




2) Find the rule (equation) of the line graphed below. Show all your work.
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3) John is checking his most recent long distance phone bill. A phone call that lasted
3 minutes ¢cost hirm $2.25. Another phone call of 8 minutes cost $6.00. The last
call on his bill was for $13.50 and lasted 18 minutes.

a) Draw a graph representing this information on a sheet of graph paper.
b) Give a rule {equation) that represents the situation. Show your work ciearly.
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c) What is the cost per minute of a long distance phone cal :3@/ O " 7‘5
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/ GRADING FOR IPOW &
1) Process
Description of process omitted 0
Incomplete description of process -5 \

Complete description of process #-10 |/

2) Solutions

, A
Incorrect solution, no support , (/

0
Incorrect solution, some support 3
Correct solution, no support 6
Correct solution, some support 8
Correct solution, and explains how you know your weights
work and how you know that you have not missed L |
some other possibilities 10




C
ﬁ -t No %;\di )‘,_ \.‘.ucu.;*;w
il <S if, ,ng %.EEW
Moy 5 \§w Mp© )\~ &o 203 @iuxwuﬁw
e Atr)

S 289 J\\owig e w\:n@ WV
;\u::o&\:e oy el - |l



"1‘

@ ADING FOR POW 9
| Points
1) Process
Description of methods used in attacking problem omitted---------=-=---------
Minimum descriptions or diagrams omitted------=-==-===-secmnmmommcmmamnmmeees

Complete description and diagrams included -----=--==--==--=-nmzsmemmmnmonoenen

2) Solution

Wrong answer not defended---=--=--mnsmenmemmmo oo
Correct answer not defended. discussion of other possibilities omitted--------
Wrong“answer some support, discussion of other possibilities included-------
Correct. defended with mathematical reasoning. has errors. -----==-===-=------
Correct answer defended, discussion of other possibilities omitted------------
Correct answer defended, discussion of other possibilities included-----------

Total Points--- -






}/v( LLL\Q'{, { P'i%i&!ﬁg;’-’q;ﬂ' s //Zg

)y ~30 ~§,(i
Nl TR
A S’ : iy '(":i}
5575 ) n...a0l® precds Fi" o201
i G 8 D
‘ / - )\ (me | -
?\ 6 -33 L (0 :'i'%w R S N
- g Aot
G 7 | e
. ,_____._._‘7C__=_ o - — ————————————

e ——

ageo Fpmaestch !

¥

-

bl O 20 4 indQ

&l I SRRy
5 \30 1 S{ /;’pﬂwgmyﬁf /-(’.-'\f/fc{(q’xf
= A

d \’/9h6é31( . R 4

; % - A {fi’:f."r {‘,
0.0ian — | s V) a1 A gga_g)gp
b}
]

/
Cdn hade fj}?{d‘{’ A ML%&? { duad c<d ate 2;-,@;*@?}/

e SNV Y Slving Ty fiong
[
—
"gta
1 \'\T’Z/r Iﬂ
RO




\

Ny (Jo
foiaf (|

Ny

T o
ke

1

afd

|

o o
I

h

i‘:\n[[

AEA R O 4 fonBdl

,\/I{i/-—'l =

j -

|

|
J\}, “1
b

!

‘ir i
&
1



%

A

EENE)E
Jalys ot Dafes A

B

oC

| )

JENEER

[Py

01 PR3y >




Lo H |7 Ay
\ ¥
2; BQ/V\(P + Dac__ran pay "Mlt’rt' Daﬁl "\(—’“éﬂ (Pﬂ'; | j(”f; 7‘74”
well nepd to bail Cal dod by needs 4o spead less
- »ﬁ pn_ 1l la de rlurlng Jrhe Month,
: (3‘ DQ(‘ }'fAn %P‘Ehi’ Olfloou't ﬂg di?“@ts en 1:Cf+5
(a/ V}em‘; oul] e ;ﬂ [ﬂf Cdn q@‘
B@mrﬂ {on jﬂnrlhﬁ 00 __on fr‘{{_{%ag
:
Cal U@”“E’ Ve
M ‘LO )52 . el L(GC\ o 3 ST SRR N . G o A T T G
7=l LA O NP T O 22
e B0 TS R ) Sl s Ik SN
m,{apk 171 926 4 36 | 7 | 25
\ ( b ‘nA .
ﬁ"( (}1‘/9 - N TY (VL P = l SR
L% S e b X ) fe= 71}
: & r——d ~— i S W B
& - [ j
S60 = ~ 24}, Mpos -84 (1)rh | 34p =74hh
% rS00 = “16 gh ‘460‘ ? 4 3063 =76+ h
31 14 i 3.5 vg5 _5 VR
£2¢ = ) - el SRl
,-/”m\ e :
F\u \ = 26X 5 s Akt YATD M s~ /g X +IELS
[ 7 IM 74
\ L «ﬂnx ;
Tead E RO . B |
NI TR S e e

VS -l e 5’(\\

s ot on
5

e O ¢ 20Mday-
_‘5:;50 .j(‘ a4 V 6) (CL?

|
I
ot = e 2 —
U LR AT i £




¢

Name_ V¥ L { CvIUE | UL T &N Overland Trail Worksheet
Date__ /2~ Evaluatlng algebratc expressions #1
/ f" /\’I fv‘ 1 ("/WT( r['_),

'fl ‘I -‘-"'7‘:_- 'F"'ili'{‘w'.(‘ \ ”

A) Evaluate the algebraic expressions below if x ="1,y =3, and z = *4. - —

SHOW ALL WORK 1_:}
;‘/1)"2x2 _ ré) z + 3y - 2x
'/3) 3x + 28 + (Z - x3) 4/) 2x2 + 4 - 2z
. /
3\ /
/5) 4y + 2x - 3z B). 22 - x2 - y3
Tk ' _ ~ A (O 3

%6 ~ Plet 4 (00
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c 2 4y +2x -3z
42+ 2-2)-3(-25)
3 2 4
23+—1+6Z
3
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12 3
z:—2l
4 -5 263/432
e _2?oxt oy
1 1 2
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( 4) ( 2) (3)
gl 18
16 4 27
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16 27
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Alge'bra Worksheet #2

Corrected by Calculator
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Name._ v e 7 Overland Trail Worksheet
Date Evaluating algebraic expressions #3

Be sure you show all steps. You may use a calculator, however, fractional substitutions
must yield a fractional answer while decimal substitutions may yield a decimal or a fractional

answer.
SHOW ALL WORK

1 2
A) Evaluate the algebraic expressions below if x=-5, yzg, and z=— 2%
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Date 27 . Evaluating algebraic expressiys #2
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Be sure you show all steps. You may use a calculator however fractional sub/stltutlons
must yield a fractional answer while decimal substltutlons may yield a decimél or a fractional

answer. - / ko ] Q'\‘ pgima
SHOW ALL woﬁK 2 / i )
Iy W, 0P /

/ L’t \

A) Evaluate the algebraic expressions below if x =-0.1, y = 0:03, and z = "0.4,
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Name / ' ' /) 2 Overland Trail Worksheet

Date 1/ i Evaluating algebraic expressions #4

Be sure you show all steps. You may use a calculator, however, fractional substitutions
must yield a fractional answer while decimal substitutions may yield a decimal or a fractional

answer.
SHOW ALL WORK

A) Evaluate the algebraic expressions below if x=2.1, y ="0.03, and z = "0.5.




- SKETCHING FUNCTIONS 111"

Make a sketch for each function described below. Use your knowledge of the
relationships described. e

® At a fixed price per ounce, the cost The height of your head above the

of buying gold is a function of the

] . L ground as you ride a Ferris wheel is
number Jf-ounces you buy.

a function of the time s'~ce you got on.
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e O . i § Tt i -
:\9 " ~e tcta: cost of operating a lemonade @ W prOtTOm Spetating o [moriate

stand is =z function of the amount of stand is a function cf *he amount of -
lemonace soid. , lemonade soid.

t/i ’ / 1
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O T \ I\“ ;“ ‘\/__/; /- j.‘J 'y 2. [ 7 - Nmméunt SOId
\ L/ C L. L& e~
\ el |
i (1 ) T
Y, Y U
Amount sold

The height of a ball that is dropped
from a height of 10 feet 1s a function
of the time since it was dropped.

The amount of water in a pan on a
burner that is turned on “high™ is a
function of the time since the burner
was turned on.

118 h i

N

N\

N

Amount

Height (1)

> Time Time

OBJECTIVE 1-2: To sketch the grapn of a function
-
usina knowiecae af rezi-world istionships CGUG Crast o m ,alLArE 1 7Q
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Name!( (( WD | (G S Bubbie gum worksneel

Date_—/ /

T Maké a graph for the number of pieces of bubbie gum needed in & maming period. Use
appropriate labels and numbers. PLAN AHEAD! g

2. Draw the line of best fit.

3) Indicate the number of pieces of bubble gum needed for 17 students.

4) Find the equation of the line of best fit. Kingw X S5V HL IRZR 2D,
# of Students |# of Pieces

5 575
8 850
11 1100 b v
¢ B75 v~ QU .
4 500 ! \
7 750 i ,
11 1025 T N (- /
6 625 JN - AN 7 C
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Name
i Date

Mr. Trabosh was at the Flyers Wives Carnival on Sunday at the First Union

Center. He was standing in line to buy a t-shirt and a soda. For some reason the

prices were not posted. All Mr. Trabosh knows is what the two people in front of him

bcught
(@) 2 shirts + 3 drinks = $48.45
(b) 3 shirts + 1 drink = $56.55

1) Using X for the cost of one soda and Y for the cost of one shirt, write an equation

for a and b. i
A F_ b (X
/ Vs } . '.’, ] o
(a) )X T/ v & _
(b) X455 v SO TS
S 20225
2) Write each equation in #1 in the form y =. (Hint: you will need to use parentheses)
~_2 r N -:F ! " ‘
= (@y=_LJ > -
f s

e ) y=_—_3 93,

3) Use a calculator and graph your equations from #2.
a) Make sure all Plots are off.
b) You might have to adjust your window also.

4) Find the point of intersection.

.76
x= Juo 2 y= [ &, b(/

5) BRIEFLY explain what the point of intersection represents.

WD-\.J (_P © O ‘
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Nams_{1 Lclip | rlagml _IMP 1 Scatter Plots Workshe
#™> Construct a scatter plot that shows the data given below. | | (s e :
b « Estimate a “best-fit” line. an equation for this data. 7/ \ I\ 9 R dacrfag T
 Use you TI-83 Plus to calculate the best line for the data. ' ‘ ' ' i
« Write, in detail, the steps you took when using the calculator. 3
DATA: (1,1.2); (15,2.3); (3.5,35); (4,3.8); (25,2.4); ™ 14
y (3,3.1); (4.5,4.7); (5, 4.9); (2, 1.9); (55,5.7) ~ ARTRUAN
A ,
6
5 —
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LCAdP | W /Topnp ac Overland Trail Worksheet

o Nameg

Evaluate each algebraic expression. SHOW ALL WORK!
1) -x2- 3x - 6 whenx=-3 . 2) -3(2x - 5) whenx=-5

= ’(\( ) & \‘a oy |
3F =364 (28 ( hecl 11
3 | p e 1+
4 & ﬂfé 3( 6-5 ) —
j ~

3) 3x2 - 4x + 10 whenx=7 4)  5(4x +2)

/ 2 (/ ( / . 5( L/{"/) 2/ Z 3[,}

7 iy -, 1o
T
O >

('7\ 2\ iy ) o

- 5) Aplaneis flying at 3,000 feet. It begins to descend at a rate of 300 feet per minute.
[ Tk Write an equation in terms of c{( feet and >£ time for the descent of the plane.

\ / - o . c by O ) _'___ \ ’_..,/'l/
17/ Equation = F/* 300 éL r3/()(10 . JJ Y AVJ_L"L.J

\

H/ |

/
/

==,
e

7"/ How long did it take for the plane to land? J (J i 008 ~3n64
i Wi w Y - .‘/ul ¢/, \r‘
6) Scuba Dan descends at a rate of 8 feet per second. Write an equatlon in terms of d
distance and ttlme for his descent P he 15 SCul a e
& .1 QL 'r L ‘ fJ N
L f -vl’_ / l/’ (; ] & ’:‘/ “V(/i r'!
Equation = (4 }? M - ] B
0 [ .
fv) After 8 seconds where is Dan? 6 / be | g VAT o s ) ks x-/
; J}( tlg w i j_ \ B ey ()t ;'1, T / Z ‘/: i,-: { { - el /_/
7‘-’ !‘ L L) { ”'I-\' ¢ ) \

4. %Y = \Y U ’\O“\
) (ll ([‘ } J{:Li(f‘
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7) Write the equation for the line graphed above. \i%

8) What is the y-intercept?

)
9,
/

9) What is the x-intercept?

=

\
t . J
/

10) Is the slope of the line positive or negative?

B W

-

-}

0



| Overland Trail Test Name_/ [/ 7
': Date_ / —
4 Read all directions carefullyl — \_
> e L
[ L it f - X [
Evaluate each algebraic expression. i f ] _

e 2) 2x2 + 4x - 10 whenx:z': 2 7
AR O RN

\Graph each of the follbwing situations. Q ¥ 24

1) 4(2x + 5) whenx=-5

3) At a fixed price per pound, the cost of lunch -4) The distance traveled by a car which
meat is a function of the number of pounds is accelerating from a stop light.
you purchase.

# of pounds : Time

Circle the correct answer.

5) If x =y = -1, then what is the value of 3(x+y) - (3x - y)?
a) -8 @) -4 c) -3 d) -2 e)2

6) If it takes a half hour to wash a car, how many days will it take to wash 96 cars?. _ -
) b) 6 c) 12 d) 24 e) 48 /

(-

~ 7) Jill's car has a 12 gallon tank and uses one gallon of gas for every 25 miles. Pete’s car

EL

has a 15 gallon gas tank. If he drives as far as Jill on one tank of gas, how many miles per
gallon does Pete’s car get?
a) 12 b) 15 (c) 20 g) 25 e) 30

\ v
N

0



Answer the following questions using the situations described below.
Submarines are best known as warships, but they are also used for research and !
engineering in deep ocean locations. Suppose such a submarine descends from the

ocean surface at a rate of 45 meters per minute.
e

8) Write a rule giving the submarine’s location in meters D, after T minutes. Use negative
numbers to indicate location below the surface. b 4 ol

——

' R
Ru‘e ‘ ~ LAV

|
9) Find the submarine’s location after 35 minutes. __| .

We want to rent some "iihtendd"'tapes from a video store. There are two stores inthe - -
neighborhood. Captain Video's plan costs $20 a year for a membership and will rent the'
games for $2 a night. Another store, Crusader Rabbit advertises a membership fee of $5

a year with a rental fee of $3 per tape.

10) Find the total cost (membership fee plus tape rental) at Crusader Rabbit’s if you
rented: .

5tapesinayear 2 () 10tapesinayear ... _ 50 tapesinayear ||

11) How many tapes could you rent in a year at Captain Video's (membership fee plus
tape rental) for:

() | ¢

82 ¢ TAp $50 _ [« | $100

12) Write a rule for the total cost of renting n tapes for each of the rental stores. Lett J
represent your total cost and n represent the number of tapes rented.

Captain Video's __

Crusader Rabbit




13) Using graph paper construct one graph showing the costs from both stores.

ov

14) If you planned to rent 35 tapes, which store would you rent from? Expiain your
reasoning. 7 :

1 0
' i j
s { v 1) }j S

~

15) When are both plans identical? (number of tapes rented and total cost are the same for

both stores)

Ms Kelly started a business 5 years ago. In the first year of her business she had 15
employees. In the second year she had 22 employees. The third year she had 26
employees, and in the fifth year she had 32 employees. Vear

Ms Kelly asks you to preduct the number of employees she may need in her tenth year of

business. _ - [ o ey Y0t mak rong ~ OVly

) \ ol B ™ I AD TN
16) How many employees will you tell her?/fiﬁ &, g O/ X Ay

/,i' e /, / j
-/ —_ {
17) What equation did you use for the above prediction? __ J
Explain how you arrived at your equation.
1 et |
T
e\,'

Mike and Paul are both traveling to New York City from Philadelphia. Mike left at 9 A.M.
and arrived in New York City at 11:30 A.M. He averaged 50 mph during his trip. Paul left

for New York City a half hour after Mike.

18) If he wants to arrive in New York City at the same time as Mike, what rate of speed

must he average during his trip? Show all your work and reasoning clearly.

5

!



= {
[
.;-: lL- :
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19) Using the above graph, find the equation (rule) for the line graphed. Show all yoﬁr
work clearly.
J
\ i‘
i F( - |
y = N ‘ -
\ / -7 \ } V*.[ : U
\_/ i r — - ,} i
( ) 7 { "
f/‘ #
20) What is the y intercept for the line above? L9 { / 1,--301 ) :/ (s LOC
21) What is the x intercept for the line above? [ (¢ ) 5 an L".dm e
\ WA :/',
22) Is the slope of line positive or negative? hedit e "f),:;’._, _f‘-/;ff? (”,“iﬁf
L ) WA f o - | b

e
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